
INSTRUCTION
MANUAL

Kids Outdoor 5-Piece Dining Set

V1.0



Kids Outdoor 24" Dining Table 3

7Kids Outdoor Dining Chair

TABLE OF CONTENTS

ASSEMBLY INSTRUCTIONS



Page 3 of  12

Kids Outdoor 24" Dining Table

INSTRUCTION
MANUAL



Page 4 of  12

CAPACITY
1 PERSON

ASSEMBLY
UP TO 20 MIN.

ASSEMBLY

1

A B

TOOLS REQUIRED

fi

TABLE TOP

UMBRELLA
   COVER

LEG I

SCREW
M6 x 70 mm

1 PC

D

1 PC

2 PCS

12 PCS

C LEG II

2 PCS

NOTICE

HARDWARE

PARTS

TABLE

Do not overtighten screws. (lnsert all screws before tightening screws.)



Page 5 of  12

PRODUCT ASSEMBLY - OVERALL VIEW

Look at following overall view of this table and learn the exact position of each part 
to be assembled.

1 Place Part A Table Top upside down on soft surface like carpet to avoid damage.

Attach Part B Leg I and Part C Leg II to the aprons of Part A Table Top as below with 
6 pcs of Hardware #1 Screw.

Pay attention to match the holes in the aprons.

PRODUCT ASSEMBLY

C

B

B
C

A

D

A

C
B

1

1

1 1

1

1



Page 6 of  12

2

3

PRODUCT ASSEMBLY

Do the same to attach the Part B Leg I and Part C Leg II to the aprons of Part A Table Top 
with 6 pcs of Hardware #1 Screw.

Check and tighten all the bolts again to ensure the table is steady enough.

Remove the Umbrella Cover to assemble the umbrella pole.

Enjoy this table now.

A

B
C

BC

1

1

1 1

1

1



INSTRUCTION
MANUAL

Kids Outdoor Dining Chair

Page 7 of  12



Page 8 of  12

3

CAPACITY
1 PERSON

ASSEMBLY
UP TO 20 MIN.

ASSEMBLY

21

A B C

TOOLS REQUIRED

fi

CHAIR SEAT

REAR LEG

FRONT LEG
CHAIR

BACKREST

SCREW
M6 x 55mm

SCREW
M6 x 85mm

BOLT 
M6 x 55mm

D

2 PCS

1 PC 1 PC

2 PCS

4 BOLT 
M6 x 30mm

RAILE

1 PC

NOTICE

HARDWARE

PARTS

Do not overtighten screws. (lnsert all screws before tightening screws.)



PRODUCT ASSEMBLY - OVERALL VIEW

Look at following overall view of this chair and learn the exact position of each part 
to be assembled.

1
Place Part B Chair Backrest Part D Rear Leg + 
Part E Rail) with 2 pcs of Hardware #3 Bolt and 2 pcs of Hardware #4 Bolt as below.

  

PRODUCT ASSEMBLY

B

D

E

D

A

C

C

D

E

B

1

1

4 3
4 3

D

Attach Part E Rail between both pcs of Part D Rear Legs with 2 pcs of Hardware #1 Screw.

Page 9 of  12



2

3

PRODUCT ASSEMBLY

Place Part A Chair Seat

Attach 2 pcs of Part C Front Legs to the aprons of Part A Chair Seat with 4 pcs of 
Hardware #1 Screw and 4 pcs of Hardware #2 Screw as below.

Pay attention to match the holes in the aprons.

Part B Chair Backrest + Part D Rail) to Part A Chair Seat 
with 4 pcs of Hardware #2 Screw.

C

1
1

1

1

2
2

2
2

C

A

2

2

B

DD

A

Page 10 of  12



4
PRODUCT ASSEMBLY

Enjoy this chair now.

Page 11 of  12



Page 12 of  12

CLEANING TIPS

REGULAR CLEAN: Use a mixture of warm water and mild soap. Gently scrub the surface
with a soft bristle brush to remove any dirt or stains.

QUICK CLEAN: You can simply wipe down the furniture with a damp cloth.

Regular cleaning not only preserves the aesthetic appeal of your furniture, but also
helps extend its lifespan.


